KCPE SOLUTION 2018
Standard Eight

MATHEMATICS

" Which one'of the‘following is seven-
million, nine thousand and twenty in
numerals?

A. 7900020

B. 7090020

C. 700920

D. 7009020

" Which one of the following numbers has
the smallest value?

A. 666060

B. 606606

C. 660660

D. 606055

A rectangular water tank measuring 3.2 m
by 1.2 m and 4.5 m high is half full of
water. Find the volume of the water in the
tank in cm’.

A. 8640 cm’

B. 17280000 cm’

C. 8640000 cm’

D. 172800 cm’

What is the number 18742 when rounded
of to the nearest thousand?

A. 19000

B. 18800

C. 18740

D. 18700

What is the place value of digit 7 in the
sum of 2947 and 145787

A. 7000

B. Thousands

C. Tens

D. Ones

What is the value of: 3(16 +4)-5x3
15

A. 59
B. 17
C. 11
D.3

9.

10.

11.

12.

Three schools were supplied with a total
of 4000 books. Out of these, 1500 were
textbooks. What was the percentage of

text books supplied?

A. 15%

B.374 %

C. 30%

D. 621 %

What is the least number that can be
divided by 48, 56 and 60 without a
remainder?

A. 108

B. 1680

C. 4

D. 240

What is the ratio 5:8 expressed as
decimal?

A. 0.58

B. 0.625

C.0.13

D. 1.6

Solve for the value of x in the equation:
2(x-1)_3
5 4
A.27
8

B.2

C.1

EN]

D. 7
8
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13.

14.

15.

16.

Evaluate: 0.3 of 2.4 +3.6-1.2+04
A.1.32

B. 1.5

C.6.72

D. 7.8

In the figure below, angle LMQ = 45"and
angle MLP = 90’, angle QNP = 30’ and
LP = NP. What is the size of angle
MQN?

45"’

AL TS

B.105°
C. 150"
D. 30°

In the year 2016 February 20th was a
Sunday. What day was March 7th of the
same year?

A. Monday

B. Tuesday

C. Wednesday

D. Thursday

Boxes measuring 20 cm by 12 cm by 8
cm were to be packed in a carton
measuring 1.8 m by 1.5 m by 0.8 m. How
many boxes were needed to fill the
carton?

A. 1125000

B. 112500

C. 11250

D. 1125

17.

18.

19.

20.

21.

The curved surface area of a closed
cylinder is 1980 cm’ while the height
measures 15 cm. Find the total surface
area of the cyhnder

A. 2772 cm

B. 4752 cm’

C. 3366 cm’

D. 3828 cm’

The marked price of a bag was sh.660.
Abbot was given 15% discount on the
marked price. Find the cost price of the
bag. :

A. Sh. 645

’-B Sh. 580

C. Sh. 561
D. Sh. 600

Ten men were employed to finish a job in
48 days. Four men left after working for
18 days. How long did it take to complete
the whole job? .

A. 50 days

B. 30 days

C. 18 days

D. 68 days

What is the next number in the sequence:
4,7,16,31,

A.52

B. 83

C.73

D. 79

What is the value of: 2X + —éy X1
‘ Y
Ifx=3andy=x

AL
9

ooT-— ;l"“

B.
C.
D
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